
ż

K
S 1-1

K
S 1-2

K
S 1-3

K
S 1-4

K
S 1-5

K
S 1-6

K
S 1-7

K
S 1-8

K
S 1-9

S

G
b+

NN(Pg/Pd zgl H+
fr.gruzu)

0,3
0,5

1,3
1,6

2,2

3,2

4,0

Pd zgl+
dr.K zg/szg

G
p->

G
p/Pg+

ż tpl/pl->
pl/tpl

Ps zgl szg/zg

Po zgl szg/zg

Ps//Ps/Pr//Ps/Pd szg/zg

Pd/Ps szg/zg

S-9
122,60

(113,80)

NN(Ż
uzel+

Ps zgl+
cegły+

K) zg
0,5

1,40

0,3

0,7
0,9

1,4

2,1

3,4

4,0

K(drobne)+
Pd zgl zg

Pd zg
G

//Pg pl
Pd->

Pd l.zailony (w
 spągu) zg

J->
Jπ tpl/pl

Jπ tpl

G
z->

G
 tpl

S-22
115,20

(108,00)

NB/NN(zużel+
grys+

tłuczeń+
fr.gruzu+

dr.K) zg

1,90

Pg/Ps zgl+
H

+
dr.K pzw

/zg->
tpl/zg

2,10

0,4

0,8

1,2
1,4

2,1
2,2

2,8
3,0

Ps zgl+
dr.K szg/zg

G
+

dr.K pl

J pl/tpl->
tpl/pl

Ps l.zgl zg
J tpl

Π
/Gπ pl/tpl

(108,85)

1,05

S-24
109,90

G
b(Pd zgl/PgH+

Ż
+

dr.K)

2,00

(108,40)

1,20

0,2

0,7

1,1
1,4
1,8
1,9
2,0
2,4

2,8

3,8
4,0

1,80 (107,90)

1,70

NN(Pg+
H

+
cegły+

dr.K) tpl->
tpl/pl

G
pH

->
G

p+
H pl/tpl

Ps zgl->
Ps zgl/Pg szg

G
 pl

Pd zgl szg
Gπ pl
Pd/Ps szg/zg
Ps szg/zg

Ps/Pd szg/zg

Pd zailony szg/zg

S-25
109,60
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